
Schoo no.- - 65(9 

Modh- Ch-5- Multiplicotson 

Nome-Rudyansh Behera 

SAd T Sec-B 

es AMubpky he oleoing b Sin ables:- 

6: 12x 5 60 

B-Use mulbiplicotion tables o complete he the poieins 

-24,6, 8, 10, 12, 4, 16 

-3, 6, 9 12, 15: 18, 2 2 

CMply ahe olUsoing 

13241 2-8 30 

58 101 26 

D-State aheher eoloaing are tue oY lolse: 

1-x8 316 Folse 

2-80x6= 540 False 

EFind the pYoduct: 

23 5 
6 
219 
35 
560 5 52 



1-Do oS dected: 

AEsimate the doloaing piducds to neayest 10 

Achual Neanest 10 

8 600 

216 000 0 
4040 
04,0 00 

6156 
Loticemubipliction B) Maltipheolong sins 

6 7358x 9: 66 222 

6 

C)Mubply the foaunng 
5 
3 

, 55 
1385 
3130 



DSho Sums: 
Multply the lavgest-3 digit numbey bythe lavgest 

-digik number. 

Ans Laygest 3digit numbey 
b 

Lovges-digit Dumbey 

8991 
89 10 

8901 

The product 15 

levist wands to make 3t bouquets h 5 

loweys ineach ocJeys each bouquet. Hocg many 

Souers doeshe need 

Ants1bougu oeachi having Aowers in 15 

No. of bouquets 
5 
135 

Toxal no, of 0u esneeded bou 6S5 
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